CHEMISTRY 12                         Ka WORKSHEET

1.
Calculate the [H+] and [OH-] in the following solutions :


a)  1.0 M HCl


b)  0.50 M HNO3

c)  0.0020 M HClO4

d)  1.5 x 10-4 M KOH


e)  1.0 M HCN


f)  0.0010 M HCN


g)  1.0 M HF


h)  0.25 M C6H5OH


i)  4.3 x 10-1 M Cr(H2O)63+

j)  5.6 x 10-5 M NH4+
2. 
Given the following [H3O+] or [OH-] and the concentration of the solution calculate the dissociation constant, Ka .


a) [H3O+] = 3.2 x 10-4 M, with a concentration of 1.0 M

b) [H3O+] = 4.2 x 10-5 M, with a concentration of 3.5 M


c) [H3O+] = 8.5 x 10-7 M, with a concentration of 0.025 M


d) [H3O+] = 1.0 x 10-3 M, with a concentration of 0.50 M


e) [OH-] = 2.2 x 10-8 M, with a concentration of 1.1 x 10-3 M


f) [OH-] = 3.9 x 10-9 M, with a concentration of 0.50 M


g) [OH-] = 9.2 x 10-11 M, with a concentration of 0.25 M


h) [OH-] = 5.8 x 10-12 M, with a concentration of 1.0 M


i) [OH-] = 2.5 x 10-13 M, with a concentration of 2.6 M


j) [H3O+] = 3.2 x 10-4 M, with a concentration of 1.0 x 10-3 M

3. 
Calculate the pH of the solutions in question 1.

4.
Calculate the pOH of the solutions in question 2.

ANSWERS :

1.
        [H+]          
    [OH-]


a)   1.0 M
        

1.0 x 10-14 M


b)   0.50 M        

2.0 x 10-14 M


c)   2.0 x 10-3 M

5.0 x 10-12 M


d)   6.7 x 10-11 M   
1.5 x 10-4 M


e)   2.2 x 10-5 M

4.6 x 10-10 M


f)   6.9 x 10-7 M

1.4 x 10-8 M


g)   2.6 x 10-2 M

3.9 x 10-13 M


h)   5.7 x 10-6 M

1.8 x 10-9 M


i)   8.0 x 10-3 M

1.2 x 10-12 M


j)   1.8 x 10-7 M

5.6 x 10-8 M

2.
a)   1.0 x 10-7

b)   5.0 x 10-10

c)   2.9 x 10-11

d)   2.0 x 10-6

e)   1.9 x 10-10

f)   1.3 x 10-11

g)   4.7 x 10-8

h)   3.0 x 10-6

i)   6.3 x 10-4

j)   1.5 x 10-4   (careful - X is significant!)

3.
a)   0.00


4.   
a)   10.51


b)   0.30



b)    9.62


c)   2.70



c)    7.93


d)  10.17 



d)   11.00


e)   4.66



e)    7.66


f)   6.16



f)    8.41


g)   1.59



g)   10.04


h)   5.24



h)   11.24


i)   2.10



i)   12.60


j)   6.74



j)   10.51
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